NEW PRICE NEW ITEM JM Euro s.r.o. 2022-06-30

										INEAN LICIAL	2022-00-30
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함		Qty 10Q)	Unit	Aı	mount	L/T	Remark
1	Welding Machine		EasyMIG 225 • MIG gun SPE 150 3m • electrode holder • work clamp • gas hose with bands Input ~1× 230V ± 10% 50 / 60 Hz MIG welding current 50 - 220A MIG duty cycle 60% Output working voltage 16.5 - 25V Wire feeder built-in, 2-roll gear Wire feeding speed 2 - 12.5m/min Welding wire spool ≤ 15kg / Ø200/300mm Wire diameter 0.6, 0.8, 1.0mm	€ 548.	06	1	SET	€	548.06	0.5~1W	4대/12대 이상 발 주시 추가 단가인 하
2	Welding Machine		modern digitally controlled inverter welding machine Allows welding TIG AC/DC and MMA AC/DC modes Package TIG torch SPE17 1B 4m set of consumables gas hose. 3m work clamp	€ 476.	54	2	SET	€	953.09	2~4D	4대/12대 이상 발 주시 추가 단가인 하
3	Welding Machine	250 200	It is powered from a three-phase 400V network. The welding current is in the range of 20 – 250A. The power source provides a strong, focused, and stable arc. Easy-to-use function panel equipped with a digital display allows for precise adjustment of welding parameters.  Package equiped: • Welding Machine •	€ 273.	91	2	set	€	547.83	1~1.5W	4대/12대 이상 발 주시 추가 단가인 하
4	Welding Machine		MIG gun SPE 150 - 2m • Work clamp Input ~1× 230V ± 10% 50 / 60 Hz MIG welding current 40 - 100A MIG duty cycle 30% Output working voltage 16.6V Wire feeder wbudowany, 2 - rolkowy Welding wire spool ≤ 1kg / Ø100mm Wire diameter 0.8mm	€ 126.	11	4	set	€	504.45	1~1.5W	대량구매시 단가인 하

NEW PRICE NEW ITEM JM Euro s.r.o. 2022-06-30

									INEAN LICIAL	2022-00-30
No.	Item	Photo	Code, Spec.		otation ·세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
5	Self- shielding flux cored wire,		diameter 0.8 mm / 0.9 kg (D100) E71T-GS for welding without gas shield (FCAW) creates a cover that protects the weld against oxygen hermetically packed spool used in agriculture, construction and production	€	6.54	10	PCS	€ 65.39	1~1.5W	
6	Tungsten electrode		(WTh20 red) 2.4 × 175 mm	€	1.78	100	PCS	€ 178.10	1~1.5W	available: 1.0, 1.5, 1.6, 2.0, 4.0, 4.8, 6.4
7	Generator		Mains voltage: 230/400 V Frequency: 50 Hz Degree of protection (IP): 23 M Engine construction: air-cooled 4-stroke OHV Engine power: 9.6 kW / 13 PS Fuel: petrol Fuel tank capacity: 25 I Fuel consumption: 4.2 I / h Engine oil type: 15W-40 / 10W-30	€	1,059.90	1	pcs	€ 1,059.90	1~2W	
8	Mobile workshop cabinet with tools (250 pcs)		Workshop trolley with full drawer extension. It has an ergonomic push handle and edge protection. Large storage space at the top and compartments for small parts and tools make work easier. Central locking with 2 keys and brakes on two swivel castors. Marking of drawers thanks to the check boxes	€	459.90	1	set	€ 459.90	0.5~1.5W	

NEW PRICE NEW ITEM

JM Euro s.r.o. 2022-06-30

No.	Item	Photo	Code, Spec.		uotation 가세미포함)	Qty (MOQ)	Unit	A	Amount	L/T	Remark
9	Vacuum Cleaner		Dust filtration class "L" Universal vacuum cleaner for wet and dry work Input 1,000 W, Max. air flow 216 m 3 / h Air flow 3600 I / min, Vacuum 210 mbar Container volume 20 I, Sound pressure level (L pA ) 72 dB (A), Cable length 5 m Dimensions (L x W x H) 375 x 385 x 505 mm,	€	118.29	1	PCS	€	118.29	1~1.5W	makita
10	Wet / dry vacuum cleaner		Improved continuous suction power thanks to innovative filter cleaning technology.  Max. input 1,250 W  Weight 9.0 kg  Net container volume 21 l	€	238.80	1	pcs	€	238.80	3~5D	BOSCH
11	digimatic calipers		0~150mm	€	103.75	2	pcs	€	207.50	1~1.5W	Mitutoyo
12	digimatic calipers	Transcription of the second of	0~300mm	€	246.23	2	pcs	€	492.46	2~3W	Mitutoyo old price
13	Big Digital Caliper		Digital Caliper,  Range 0-1000mm,  Accuracy +/-0.08mm	€	608.85	1	pcs	€	608.85	2~3W	old price
14	Big DIGIMATIC CALIPER (Mitutoyo)		(2000*0.01)	€	2,313.36	1	pcs	€	2,313.36	2~3W	Mitutoyo

NEW PRICE NEW ITEM JM Euro s.r.o. 2022-06-30

No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
15	Digital Micrometer	\$553 ***********************************	Range:0 - 25 mm Parallelism:1 µm Digital step:0,001 mm Maximum Permissible Error J MPE:±1 µm Measuring force:5 - 10 N	€ 182.28	1	pcs	€ 182.28	1~1.5W	Mitutoyo
16	Calibration			€ 12.00	1	time			price depends on tool type
17	ALUMINU M LEVEL	, SHOT (1)	Professional aluminum spirit level Length: 600 mm shape - X. Milled abutment edges. extremely rigid construction. Accuracy: 1mm / m	€ 5.80	10	pcs	€ 58.00	0.5~1W	old price
18	Magnetic core Drill		Max. core drill diameter 35 mm  Max. core drilling depth 30 mm  Clamping firmly  Speed 390 rpm  Smooth speed change No  Magnetic holding force 1500 kg / 15000 N  Base dimensions 165 × 80 mm  Power consumption 1100 W  Electrical connection 230 V  Dimensions (w × h × d) 210 × 360 × 210	€ 767.52	1	pcs	€ 767.52	1~2W	available another type of magnetic Drill
19	Pro bench drilling Machine (230 V)		Bench drill with belt drive and digital speed and drilling depth indicator on the drilling head.  Powerful engine Separate emergency switch Safety electronics in 24 V DC design Guaranteed accuracy ≤ 0.02 mm, measured on quill	€ 1,007.52	1	pcs	€ 1,007.52	1~2W	

NEW PRICE NEW ITEM JM Euro s.r.o. 2022-06-30

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
20	D 23 Pro table drill (400 V)		Bench drill with belt drive and digital speed indicator and drilling depths on the drill head.  Powerful engine Separate emergency switch Safety electronics in 24 V DC design Guaranteed accuracy ≤ 0.02 mm, measured on quill	€ 935.52	1	PCS	€ 935.52	1~2W	
	discount				1	time	-€ 515.56		3,000€~:5%
	Delivery Charge		To Slovakia/ Hungary/ Poland/ Czech 10€/BOX ~ 120€/PALLET	€ 35.00	1	Ship	€ 35.00		1,000€~ : Free (부피)중량물 제외 (예: 보루, 헬멧 등등)

EXW Trnava(SK) € 10,766.24

Payment : In Advance

If the qty is changed, probably the price will be changed

Leading Time; counting after payment confirmation

https://www.jmeuro.com/machinetool